Division par 10* (H)

84 =+ 102

92 = 102

93 + 102

58 + 107

2 +10%=

76 ~ 102

19 = 10?2

47 + 107

42 + 107

98 + 102

Trouvez chaque quotient.

87 =+ 10% =

75 + 10% =

11 + 102

58 + 107

22 +10%=

27 - 10% =

5+10% =

69 + 10% =

62 + 10° =

91+ 10% =
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Division par 10% (H) Solutions

84 + 10% = 0,84

92 +10%=10,92

93 +10%*=0,93

58 + 10% = 0,58

2+10%=0,02

76 + 10°=0,76

19 +10*=10,19

47 +10%*=0,47

42 +10%*=0,42

98 + 10% = 0,98

Trouvez chaque quotient.

87 + 10% = 0,87

75 +10%*= 0,75

11+10%*=0,11

58 + 10> = 0,58

22 +10%=0,22

27 +10%=0,27

5=10%2=0,05

69 + 10% = 0,69
62 +10%=0,62
91 +10=0,91
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